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XML %t :
<?xml version="1.0" encoding="utf-8"?>
<xml>
{result>
<{count>3</count>
{item>
<{road address>dt 290 K</road address>
ddistrict text>WHT &gt M Hi&kgt ; )5 E</district text>
{road>
<urban>0</urban>
{distance>290</distance>
{lanenumber>—4% 41 </lanenumber>
<width> (5.5 K13 >K]</width>
<limit speed>15.0</limit speed>
<name/>
<roadtype>JtJ&ME</roadtype>
<{Ing>119. 29505</1ng>
<lat>29.99983</lat>
<{road level>HAthi&M</road level>
{/road>
{district>330122000</district>
</item>
{dtem
<road address>PtJt 211 2K</road address>
ddistrict text>dbmmi&gt;dbiTi&gt; K4IX</district text>
{road>
<urban>0</urban>
{distance>211</distance>
{lanenumber>—2%k 4.1t </lanenumber>
<width> (5.5 K713 K]</width>
<limit speed>15.0</limit speed>
<{name/>
<roadtype>JCJE M </roadtype>
{1ng>116. 69542</1ng>
<{lat>39.59728</lat>
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{road level>HAhIE M </road level>
{/road>
{district>110115000</district>

</item>

{dtemy

{road address>dt 752 %</road address>
ddistrict_text>ZE&et; FEHI&gt ; KF E</district_text>
{road>

<urban>0</urban>

{distance>752</distance>

{lanenumber>—2%k 4.1t </lanenumber>

<width> (5.5 K713 K]</width>

<limit speed>15.0</limit speed>
<name/>

{roadtype>JC &M< /roadtype>

{Ing>117.19448</1ng>

{lat>32.39529</lat>

<{road level>HAthiE %< /road level>
{/road>
{district»>340121000</district>

{/item>
{/result>
{status>ok<{/status>
</xml>

JSON %t

{"result”: {"count”:3, “item”: [ {"road address”:”dt 290 %

7 7district text”: WL BT T > A E

” “road”: {"urban”:”70”, “distance”:290, “lanenumber” :” — 4k il

7 "width”:” (5.5 K713 2Kk]7, “1imit speed”:”15.07, "name”:””, “roadtype”:”
TIEME”, “1Ing”:7119. 295057, “1at”:”29. 99983”, “road_level”:” HAt i i

7}, "district”:7330122000”}, {"road_address”:” ik 211 K

7 Pdistrict_text”:"IEEETHI>ILF IO KM IX

” “road”: {"urban”:”70”, “distance”:211, “lanenumber” :” —4&ZiE

7 "width”:” (5.5 K713 2k]7, “1imit speed”:”15.07, "name”:””, “roadtype”:”
TIEME”, “1Ing”:7116. 69542”, “1at”:”39. 59728”, "road_level”:” FAt i i

7}, 7district”:7110115000”}, {"road address”:”dt 752 K

7, "district text”:"ZHE>EIETDKFEE

” “road”: {"urban”:”0”, “distance”: 752, " lanenumber” :” — 4k ZiE

7 "width”:” (5.5 K713 2Kk]”, “1imit _speed”:”15.07, "name”:””, “roadtype”:”
TIEME”, “1Ing”:7117. 19448”, “1at”:”32. 39529”, "road_level”:” HAt1 i i

”}, 7district”:73401210007} 1}, “status”:”ok”}
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XML H -
<?xml version="1.0" encoding="utf-8"?>
<xml>
{result>
<{count>3</count>
{item>
<{road address>Zxit 468 K</road address>
{district text>WVLA&gt ;MM ket ; IfiZHi</district text>
{road>
<urban>0</urban>
{distance>468</distance>
{lanenumber>—4% 41t </lanenumber>
<width> (5.5 K13 >K]</width>
<limit speed>15.0</limit speed>
<name/>
<roadtype>JuJ&ME</roadtype>
<{Ing>119. 29587</1ng>
<lat>29.99778</lat>
<{road level>HAthi& < /road level>
{/road>
{district>330185000</district>
</item>
{dtem
{road address>Fd 243 K</road address>
ddistrict text>dbEmi&gt;db &gt ; K4IX</district text>
{road>
<urban>0</urban>
{distance>243</distance>
{lanenumber>—4% %1t </lanenumber>
<width> (5.5 K713 K1</width>
<limit speed>40.0</limit speed>
<{name/>
<roadtype>JCJE M </roadtype>
<{1ng>116. 69968</1ng>
<{lat>39.60218</lat>
{road level> Z4HF1E</road level>
{/road>
{district>110115000</district>
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</item>
{dtem
<road address>ZJt 737 K</road address>
ddistrict_text>Z &gt ; FLHI&gt ; KF H</district_text>
{road>
<urban>0</urban>
{distance>737</distance>
{lanenumber>—2%k 4.1t </lanenumber>
<width> (5.5 K713 K]1</width>
<limit speed>15.0</limit speed>
<name/>
<roadtype>JCJE < /roadtype>
{1ng>117.19448</1ng>
{lat>32.39529</lat>
<{road level>HAthiE %< /road level>
{/road>
{district»>340121000</district>
{/item>
{/result>
{status>ok<{/status>
</xml>

JSON%iH :
{"result”: {”count”:3, "item”: [{"road address”:” %t 468 X
7 "district_text”:"WIVLAE>HUN T I 2T
” “road”: {"urban”:”70”, “distance”:468, “lanenumber” :” — 4k ZiE
7 "width”: 7 (5.5 K713 2K]7, “1imit speed”:”15.0”, "name”:””, “roadtype”:”
TIEME”, “1Ing”:7119. 295877, “1at”:729. 99778”, "road_level”:” FAt i i
”},”dlstrlct”:”330185000”},{”roadfaddress”:”?ﬁ’243?&
7, "district text”:7dbE W > IR T > KNLIX
” ”road”: {"urban”:”70”, “distance”:243, " 1anenumber” :” — 4k ZiE
7 "width”:” (5.5 K713 2Kk]7, “1imit _speed”:”40.0”, "name”:””, “roadtype”:”
T, “Ing”:7116. 69968”, “1at”:”39. 60218”, “road level”:” Z4HN|1E
), ”dlstrlct”-”110115000”} {"road_address”:”ZRqk 737 K
7, "district_text”:"ZHEE>AETOKFER
”,” oad”: {"urban”:70”, “distance”: 737, “1lanenumber” : " — 2k ZEiE
7 "width”:7 (5.5 K713 2K]7, “limit speed”:”15.0”, "name”:””, “roadtype”:”
TJEM”, “1ng”:7117. 19448”, "1at” :”32. 39529”, “road level”:” HthIE %
71,7 dlstrlct”:”340121000”}]},”status”:”ok”}



